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<INDIAN STATISTICAL INSTITUTE
COMPUTER'S CERTIFICATE EXAMINATION, AUGUST, 1055
Part A @ Secrion I

Time : 3 Jours Full Marks : 100

N.B. (a) Anewers to tho differont groups aro to bo givon in separate booka.
(b) Attempt ANY TWO questions from cach group.
(c) Al quostions carry equal marks.
{d) Uso of Calculating Machines is not pormitted,

Grour A

“1. The following tablo gives tho percontage annual expendituro on consumor
items, based on a total expenditure of Ra. 3593,304, rolating to 3141 samplo houso-
holds. The laat row givea expendituro per houschold calculatod from theso percentages.
Correct any mistakes you dotect and copy out tho Tablo with, improvementsin nrrnngo-'
ment.

TapLE : Annual expendiluro on consumption in the rural area : July 1049-Juno 1950,

Number of samplo houscholda : 3141
Total expondituro of tho houscholds :  Ras. 3:5393,304

(i) Jtems Food Fuel Rent  Clothing Other "Total

(ii)‘ Percontago B
soxponditure 66.3 3.3 0.6 10.5 19.3 100.0

(iii) Exponditure por
houscholds (Rs.) 37 748 1 2 121 1144

2, The table below showa tho rolationship botween denominations of weight

undor throo systems :

TasLe
Donomination System I System 11 System IIT
Maund 40 scorn 40 scera 40 soors
Seor 4 pona 4 poas & pons
Poa 4 chhataks 4 chhataks 3 chhataks
Chhatak 6 tolas G tolna 4 tolns
Tola 180 graina 180 graina 200 graina

(i) Taking system I as tho atandard, express the donominations under
aystoma II and III in torms of standard denominations.

(i) A ing that the d under all the threo systems is of the same
magnitudo, what aro tho rolative maganitudes of chhatack under tho threo systenis ?




(i) . Assuming that tho grain is of the eame magnitude in all tho threo aystems,
what aro the relative magnitudes of poa under tho threo aystems ?

3. Draw a u'lnnm 2% inches by 2} inches with five rows and five columns,
partition it into 23 squaro cells of equul size.  In cuch eolf put a letter out of tho five
lottera: A, B, C, D, E, such that tho samo lotter dcos not appenr mnoro than onco isp-
any column or row. )

Grour B

4. Tho following is an account of the performance of students appearing for

a cortain ination for six colleges :

“Out of 30 studeats in tho first college, 25 apy 1 for tho ination. In
the remaining five colleges the total number of studunts was 53, 36, 40, 34 and 10 res-
poctively. In the eccond end sixth colloges threo candidates ench fuiled to appear
in tho examination, In cach of tho remaining throo colleges, tho number of candidatea
who failed to sit for the examination was four. Tho number of studonts who passed
the sination as T ge of thoso who appearod was ns high as 80 per cont in tho
first and fifth colleges and 50 per cont in tho fourth and sixth-colleges. From tho third,
fourth and fifth collegea an cqual number of studonts passed tho examination. Tho
number of studonts who passed out from the sccond collego equals tho total number
of students who passod from both the first and sixth colleges.”

Arrange the above information in tabular form. So far as the perfornnnco
of tho students who apy d for tho ination is concerned, which college has the
bost record ?

5. Comp.lolo the following calculations :—

8;‘:;'.-1 P q Pty P—9 2p0 pP'-¢* pPitgrilpq .
1 18 12
2 5 27
'3 18 1
4 2% 19
.5 13 22
.8 ) 31
7 16 0
8 20 7
-0, 4 16
10 9 5
Total ¢




6. Out of 1200 fumilivs investigntud in an onquiry, 34 per cont wero in thoincome
group lems thar® Rs, 130/- per month, 43 por cont in the income group Ka, 150/- to
1R, 300;- per nonth, 12 pee cont in tho income group Ra, 300/- to Ra, 500/- poer month

“Whd tho remnining 11 por cont in the incomo group Re. 500/- und nbove. The oxpondi-.
turo per month per family for ‘convonyance' for theso four groups of fumilies amountod *
to Ra. 1428/., Re. 2891/, Ru, 1332/- and Rs. 1584/ respectivoly. Verify that the
avorago expenditure per family on convoyance by fumilies in tho incomo group Ra, 500/-
and above was very nearly twico tho corresponding average expondituro for all the
1200 fumilios.

COMPUTER'S CERTIFICATE EXAMINATION, AUGUST, 1053
Parr IA : Secriow II

Time : 3 Hours Full Marka: 100

N.B. (a) Answors to the differont groups aro to bo givon in scparate books,
(b) Attempt ANY TWO questions from each grovp.
{¢) ANl quostions carry cqual marks.
(d) Uso of Caleulating Muchinoe i3 not permitted.

Grour A

1. (a) Solve the equation 935242730 = 245.

(b) Simplify 17863 —84122+6822x 1235 —106122 4 5603 x 1262,

2, Calculate the standard deviation and tho standard error of the meen of the
following nicasuromonts in inchos:

48, 44, 04, 37, 59, 47, 70, 79, 54, 72, 56, 95, 54, 57, 63, 78, 53, 70, 42, 80,
55, 70, 50, 74, 64, 76, 50, 88, §7, 81, 72, 83, §7, 52, §5, 18, 70, 34, 64, 10,
44, 68, 70, 54, 63.

3. Tha prico of flour at each of tho 25 shops at town 4 ia Ro. 1/- por soor, at cach
of 18 shops at town B is —[13/8 "pios per scor, at cach of tho 30 shops at town C ia
Ro. 1/4/- per scer, at cach of tho 20 shops at town D is'-/12/ 0 pios por scor, and at each
of tho 24 shops at town E is Re. 1/68/- por scor. .

(a) What will bo the average prico of tho scor of flour if you buy one. ecer
of flour from cach and overy shop of all theso five towns ?
. (b) Will tho avurago price of a scor of flour bo different, if you tako a scor
from only ono shop of cach town? What is the diffuronce in tho prico ?
“(e) Assuming tho averngo prico por ux v a8 enleulatad in (n) abovo ns the hase
prico, vxpress th prico por soor of flugr at towns € and £ as un indux of tho sume ?
3



Grour B

4. The length of the shadow cunt by a vertical pole on the gmun‘d waa obsorved
at different timos on the forenoon of a day and the obsorvations are givon bolow :—

Timo at which

observations Sam. 9am. 10 a.m. 11 a.m. 12 noon
were mado .

Length of the

shadow in fect 17.3 10.0 5.8 2.7 0.0

Calculnte by simplo lincar interpolation
{a) tho longth of the shadow at 10-45 a.m.
(b) the timo at which the lecngth of the shadow waa 13 feot.
5. Tho following tablo givos the averago output of paddy por acro and avernge
Luman labour days required for tho culln.nnon of an acro of land for dlﬂ'vrem size-

cluwes of holdings.

Sizo of OQutput in Human

holdings maunds labour days

in acres per acro per acro
0—1 18.54 59.47
12 16.42 46.178
23 15.35 . 4180 .
33— 12.68 . 45.34
-5 14.20 41.70
5—0 14.04 39.47

Reprosent the above data graphically to show tho relutive variations of ou!nut.
of pnddy and labour days por acro with increasing sizo of holdings.
8. The dry weight and ash weight in grams of 20 samplo scedlings aro given below :

Sample  Dry wt.  Ash. wt. Sample  Dry.wt. Ashwt,
secdling  in gms.,  in gins. scodling  in gms.  in gms,
No. No.

1 15.8 4.5 11 19.3 5.3
2 10.0 4.0 12 26.2 8.3
3 20.3 6.1 13 18.0 5.8
4 _19.6 7.2 14 8.5 3.6
5 20.8 5.6 15 15.0 4.4
] 15,1 5.7 18 20.6 1.5
7 -16.7 5.9 17 18.1 5.1
8 23.7 7.1 18 20.9 1.8
] 18.3 8.8 10 20,3 8.5
10 14.6 4.0 20 14.0 5.1

Show the relationship botweon ash woight and dry woight of tho scedlings
graphically wherofrom dorive tho avorage ash woight of scodlings having dry woight
of 15 gmas,



COMPUTER’S CERTIFICATE EXAMINATION, AUGUST, 1933
Pant 1B : Secrion I (Fon Baren 1)
Timo : 3 Hours ’ Full Marks : 100

N.B. (a) Answors to tho difforont groups oro to be given in scparate books,
(b) Figurcs in the margin indicate full niarke.
(¢) Uso of Caleulsing Machines is pormitted.

"Group A .

LM te of height o8t to inches and of body-weight nearost Lo units
of ten pounds woro recorded for 100 workors, v

Thero was only ono worker with a height of 61 inchos and & weight of 8 units.

Out of 7 eascs with a height of 82 inchos,—one, three, two and one weighed
8, 8, 10 and 11 units respectively.

Out of 11 cases with a height of 63 inchvs,—one, two, six and two weighed
8, 9, 10 and 1] units respectively. .

Out of 19 cases with a height of 64 inches,—one, three, four, cight, two and
ono weighed 8, 9, 10, 11, 12 and 13 units respectively.

Out of 21 cascs with a height of 63 inches,—ono, 8ix, nine, four and ono weighed
9, 10, 11, 12 ond 13 unita respectively.
¢ Out of 23 cases with a hoight of 66 inchos,—two, four, elevon, threo, two and
one woighod 9, 10, 11, 12, 13 and 14 units respectivoly.

Out of 8 cnsos with a hoight of 87 inches,—ono, three, two, ono and ono weighed
10, 11, 12, 13 and 14 unita rospectively.

Out of 8 cascs with a hoight of 68 inches,—ono, two, three, ono and one weighed

10, 11, 12, 13 and 14 units respectivoly.

Out of 2 casos, with a hoight of 69 inchos, one weighed 12 units and the other
had a woight of 15 units.

Calculate the corrolation coefficiont botwoen hoight and body-weight. (25)

2. On tho data given above, calculate B, and 8, for body-woights. (25)

Or,

3. On data given in Q. 1, compute the Mean body-weight togother with the
standard deviation and the coofficiont of variation, separatoly for the two grroups
enumoratod bolow :—

(a) thoso with a height of 65 inches or bolow
(b) those with & hoight above 85 inchos (23)
8



Grovr B

4. The data given bolow relate to the conversivn officivncy measurod daily of a
pressuro oxidation plant for tho munufucture of nitric acid from ammonia. After
soven days the plum. is stopped lompomnly and tho entalyst subjocted to a ro-vivyfying

treatmont.
MeasURES or CONVERSION EFFICIENCY

Run 1 2 3 1 3 6 1

No.

Day 1 80 G4 H 30 87 T2 35
2 82 63 40 41 42 33 35
3 58 03 408 40 43 46 3
4 52 36 39 41 38 47 48
5 31 k3 42 k) 37 38 417
() 23 32 43 17 33 80 47
1 20 27 57 12 26 41 ki

Analyso whothor thore aro significant variations in tho efficiencice betweon
the various days and botwoon tho various runs,

(30)

5. On corlam oporations in one machino shop, aubgroupa of fivo components

wero measured overy balf-hour, The mcans X of tho subgroups aro as followx :—

Subgroup
No.

t

Pied=t—4 T R L T T

X
t

0.6117
0.8418
0.6424
0.6431
0.6433
0.6437
0.8433
0.6436
0.6441
0.6444
0.6456
0.8457
0.8454

Fit & parabola’of the sccond dogroo
X =oatpt+y?

by the mothod of loast squares.

(20)



COMPUTER'S CERTIFICATE EXAMINATION, AUGUST, 1053
Part 1B : Secriox I (For Baten 2) '
Timo : 3 Iours Full Marke : 100

N.B, (o) Answors to the difforent groups are to bo given in scparato books,
(b) Figurce in tho margin indicato full morks.
(¢) Uso of Calculating Macihines is pormitted.

Grour A

1. Measuromonts of hoight, waist-grith and body.weight for 60 workors aro
givon below :— :
Work out :—
(a) Coofficiont of corrolation botwecen waiat-girth and body-weight.
(b) Lincar regression coofficionts of body-weight on waist.girth. {25)

Sorial  Hoight Body Whaist Serial oight ‘Bo«ly " Waist

No. {Inches) wt. Girth . No. (inchea) .. Wt. . Girth
{lba.) {inches) . (1bs)) (inchea)
1 66 100 25 31 68 126 28
2 a4 108 27 32 683 11 27
3 63 100 24 33 84 98 26
4 68 120 28 .34 63 103 | 24
5 68 181 29 35 65 12 25
8 72 133 . 30 38 62 138 32
7 66 118 27 1 64 028 20
8 67 103 25 38 85 m 27
9 66 45 32 39 85 122 29 -
10 67 108 25 40 (1) 131 31
1 66 118 30 41 3 106 - 27
12 68 128 29 4 . 66 %0 - 23
13 [ 180 40 43 (1] 112 28
1 6 17 28 4 64 23 23
15 G8 113 27 43 [11] 139 31
18 61 123 31 40 5 120 3
17 617 i 24 47 69 130 28
18 04 102 25 48 () 1 26
19 04 108 20 49 a2 102 25
20 65 104 24 50 a7 122 24
21 63 m 26 61 64 135 3
22 65 104 24 52 (1) 136 43
23 (1) 136 a3 53 [1X] 28 20
24 08 143’ 32 54 60 04 24
23 Gs 148 3 &5 L, 62 130 31
26 67 164 36 58 62 103 26
27 a7 139 34 67 (1] 11 25
28 59 110 20 b8 70 161 38
20 61 a4 24 59 a3 143 38
30 59 89 26 80 617 108 26




2. For tho data of Question 1, find tho averngo body-weight for each of tho follow-
ing classos of workers :— (25)
(a) those with a height of 65 inches or below and & waist-girth bol:)w 30 inchos,
{b) thoso with a hoight of 85 inches or bolow and a waiat-girth above 30 inchos.

(¢) thoso with a heght above 63 inchos and a waist-girth bolow 30 inchos.

(d) those with a height above 65 inches and a waist-girth above 30 inchos:

. Or

3. For the data of Question 1, calculate g, and B3 for ‘height'. (25)

Geour B

4. In a factory, where finished product is packoed in sacks of 50 Kgs cach, the
woighing and packings are carricd out by 8 machines which aro fed from tho samo store.
At cortain intervala a control sack is takon from cach machino and its woight noted.
Tho data are given bolow :—

WEIGRTS OF CONTROL SACKS

{in Xga)
Machino No.
No. 1 .2 3 4 5 ]
1 50.8 50.5 50.7 50.2 30.5 50.4
2 50.1 50.4 50.5 50,2 50.1 50.4
3 50.1 50.8 50.8 50.4 50.7 50.8
4 50.2 50.4 60.0 50.2 650.0 50.5
5 50.1 50.5 50.7 50.1 50.3 50.3
] 49.2 49.3 49.3 49.2 19.3 49.0
K 50.1 50.3 50.3 50.3 50.0 .50.1
8 49.9 50.3 49.9 50.1 49.8 50.2
9 49.8 50.1 50.2 50.0 49.7 50.1 ¢
10 49.8 60.1 50.0 40.9 49.7 49.9
Examine whother thoro aro significant variations botween the various samples
and botwoen tho various machines. (30)

5. ‘Tho following table gives tho porcontage dry matter (z) in frosh apinach and
the porcontago proserved mscorbic acid (y) after drying at 90°C.

x y z y
10.0 70.9 9.6 61.9
8.9 74.0 10.8 65.2
8.9 68.8 11.1 17.2
9.2 80.8 11.2 89.6
1.8 69.4 12.5 74.2
10.2 76.0 12.3 83.1
9.0 66.4 10.0 6.7
8.2 50. .

(i) Find tho regrossion line of y and z.
‘(ii) Obtain the graduated values for y and plot thom on a graph papor togother
with the observed valuo. 20)




COMPUTER'S CERTIFICATE EXAMINATION, AUGUST, 1055

Parrt IB : Szcrion II (For Barca 1)

-Timo ¢t 3 Hours Full Marks : 100

N.B. (a) Answers to the difforont groups aro to bo given in lopara!o booka.
(b) ANl quostions carry oqual marks.
(¢) Uso of Calculating Machines is pormitted

. Grovr A
1. Evaluate the following :—
(a) (i) log 55.6782,
2,3500 .

x .
(ii) 5° whore z = 2.345

(b} A potential buyor of light bulbs bought 50 bulbs of each of two brands.
Upon toating theso bulbs ho found that brand A had a mean life of 1282 hours with
o standard doviation of 80 hours, whorcas brand B had a'mean lifa of 1208 hours with
a standard deviation of 04 hours. Do the two bmndn diffor in quality ?

2. Tho frequoncy distribution of woights in gms. of & numbor of iron balls is
shown below :— . - .
Weight Frequency
67.8—69.0 ' (]
69.0—70.2 S, .. %0
70.2—-71.4 ~ 42
7.4-72.6 ° : 66
72.6—173.8 . EEE T
73.8—15.0 120
75.0—76.2 102
18.2—77.4 €0
77.4-18.8 .54
78.6—79.8 . ' 4
79.8—81.0 12

Fit o normal curve to tho abovo froquoncy distribution and draw tho fitted
eurve, Obtain tho expocted froquoncics for tho classcs: 89.0—70.2, 72.6—73.8,
73.8—15.0, 76.2—1717.4, 78.0—170.8.

. Grouvr B

3. Supply any throo of the following itoms of inf: ion (official
may be used) :—

(i) Find out the total quantity and value of mica oxportod from India during
three oonsocutive yoars (latost figures to be given). The share of the difforent States
should bo shown separatoly in a tabular form,

(]



(ii) Which state in India exported the maximum amount of oil soods to Wout
Nongal during tho half-year ending on 30-0-52! Tho amount of oxports from othor
States to Wost Bongal may also bo shown in a tabular form. -

(iii) Calculato tho oxpondituro incurred on Eduention in 1946-47 for 100
(a) Collogo students, (b) School studonts for Bombay, Madraa, U.P. and West Bongnls

(iv) Estimate tho proportion of area under cultivation to total arca in thoso
rogions of Indian Statos for which statistics aro avaiable for tho yoar 1038-30, For
tho above tract of land, calculate tho proportion of irregatod nrens undor rico and
wheat to the total aroa undor those crops.

4. Draw up a cumulative frequoncy graph of the following distribution of con-
sumption of olectricity in KillowattHoura used by 75 rosidential consumors in one
month and honco find (a) the median and (b) tho two quartiles,

KiLowaTT-HOCRS or ELECTRICITY C8ED IN
ONE MONTH BY 75 RESIDENTIAL CONSUMERS

Consumption in . Number of
Kilowatt-Hours consumors
5— 24 4
25— 44 ]
45— 64 14
65— 84 * 22
85—104 )\l
105—124 5
125—144 7
145—164 3
Total : 75
Or,

(i) Draw bar diagram to ropresont the following facts :—

India imported 223,142 tons of sugar in 1933, 201,158 tons in 1936, 23,075
tons in 1047, 14,389 tons in 1839. Of tho total quantitics tho share of Java was
176,146 tons in 1035; 150,416 tons in 1036; 15,022 tons in 1047; 10,203 tons in 1038
and 24,510 tons in 1939 and the rcst came from varioua countrios.

(1i) Roprosont the following figuros suitably on a graph papor and predit
the population for 1955:

GrowtH or PorurarioN 1N \WEsT BENOAL

Year Number

1891 1,48,86,000
1001 1,68,34,000
1911 1,67,93,000
1621 1,64,01,000
1931 1,78,83,000
1941 2,18,37,000
1051 2,48,10,000



COMMTER'S CERTIFICATE EXAMINATION, AUQUST, 1035
Panr IB : Szctiox II (For Dncn' 2)
L
Timo : 3 Mours Full Marks : 100

N.B. (a) Anewors to tho diffuront groups are to bo givon in soparato booka,
(b) All questions corry oquul marke.
(¢) Uso of Culculuting Machines is pormittod

Grour A
1. (a) (i) Find tho ordinates of tho curve
) - 22.03

z1
Y = 1363.71 (l + T8

at z=1.0791, 29791, 39101 and 5,070l
ih (ii) Making use of Fisher and Yates® tables, find tho 8 per cent point of
s wit
(i) ny = 20, ny = 20
(i) ny = 50, ny = 30
(b) The data below given the numbers of porsons with black and brown oyos
obscrved in five groups of familios :—

F, F, Fy Fy Fy
Black 21 51 ' 106 125
Brown 15 - 180 A 15 15

Docs tho proportion of black and brown differ from family to family ?

. Given bolow is tho distribution of 500 rivots sccording to diamotor of their

heads in millimetree.

Class midpt. No. of Class midpt. No. of

rivots rivets
13.07 1 ' 13.47 72
13.12 4 13.52 [.E]
13.17 4 13.67 41
13.22 18 13.62 1
13.27 38 . 13.67 12
13,32 68 13.72 2
23.37 (] 13.71 1

13.42 98

Total : 860

Fit a normal curve to tho above froquency distribution and draw the fitted
curve.

13.37, 13.42, 13.47, 13.62,
11



Grovr B
3. (i) Roprosont tho data graphically and write a critical note,

. "Fortox Trave or Invia
{Merchandise only Re. in croros)

Year Jmport Export Balance of Trade

1939-40 184.75 . 213.57 48.82
1043.44 117.68 209.909 02.31
1946-47 288.44° 310.28 ' 30.84
104748 308.62 403.19 4.57
1048-49 518.00 422.82 05.18
1949.50 553.00 - 403.34 89.66
1950-51 548.53 679.84 31,31

T

' (ii) Conatruct a pis chart for the following data which reprosont tho *Revenue
Exponditure’ of a Stato for a particular month undor five difforent heads mentioned
bolow, assuming that theso rep the total expenditure :— .

. Irrigation ..- Rs. 9,41,388).
Gonoral Administration .. Rs. 21,17,323/.

Police Ra, 47,40,107/.
Education .+ Ra. 48,04,422/.
. Medical and public health.. R, 42,54,102/-

P Xy

.(i) Propare a table showing the srea, population and density of population for
onch State (Part A and Part B) of India during Census 1951,
(i) Find out the area under Chillics, tobacco and mulberry in Malda district
of the West Dengal State during 1931, 1941 and 1051 Consus.
' i Or,
(i) Reprosent graphically the Index Numbera (July 1914 = 100) of whole-
salo prices of following placos. Alsa writo a oritical noto on the samo,

Price INDICES

Year Bombay Karachi Calcutta
1023 ) 181 148 172
1024 182 154 173
1025 163 151 - 189
1026 149 140 s
1027 147 137 148
1928 146 137 145
1920 1S 133 141
1930 126 108 118
-1931 109 95 08
..1032 100 00 91
1033 08 07 87
1034 05 90 89
1035 99 09 1
1036 Lo 04 . - 103 - - 91
1937 108 108 102

32



(i) Show by meaan of cicoular diagrams the following inf ion reganding .

the bor of foinale scholars in gnisod institutions in India
1930-31 1033.36
In Arta Colleges 2,744 5,320
In Migh Schools 83,879 1,23,949
In Middle Schools 1,70,897 2,16,010

In Primary Schools 10,81,640  £5,05,077

COMPUTER'S CERTIFICATE EXAMINATION, AUQUST, 1953
Past IC :-Ssction I
Time : 4 Hours Full Marks : 100

N.B, (a) Answers to the different groups are to bo given in scparate books.
(b) All questions carry equal marks.,
(c) Use of Calculating Machines is permitted.

Grocr A

1. (a) For a ccrtain distribution of 23 observations the mean was found to be
56 inches and the standard doviation 2 inches. Aftor these results were computed it
was discovered that a mistake had been made in one of the observations which was
rocorded as 64 inches, Find the mean and tho standard doviation if the incorrect
obscrvation 64 is omitted.
. (b) Find graphically a valuo of z lying botween 15 and 20 satisfying tho
equation

. 22 =
25 logier + - = 6.35

bution and columns (1) to (8) ita subdistributions whoso totals add upto 2060 which *
is also the sum of tho laat column,

2. In the table given bolow the first and last columns form a frequency distri.

y () @ @ @ B (& (NS
. 138 2 2. 7
125 1 3 1 4 4 4N
115 5 1 8 1 8 7 48
105 2 1 10 12 8 8 2 4
95 1 3 12 1 7 12 7 1 5
85 2 1 5 6 18 8 5 43
% 2 8§ 5 8 8 6 .1 35
s 2 3 3 4 1 [ 14

Find the mean and variance of cach of tho columns (1) to (8) scparately and
using these computed valuos find the mean and varianco of the combined distribution,
Chock tho last two results suitably.

13



-Grovr B
{(Anwwer ANY TWO QUESTIONS)

3. Tho following tablo gives tho potnto yiclds (y) in Ius, per acro conductod in
a randomired block experiment together with the number of plants (n) per plot. The
troatments usad aro different types of fertilizors,

. Brocks )
Fenitizer . 1 2 3 4
None Y H.o0 53.4 19.9 48.5
(o). n ol 24 80 " 90
Superphorplnte -~ y o 48,5 {9.1 4.0 49.2
7] " 90 88 89 94
Muriate of Potash v 45.2 69.0 41.3 67.8

T n 23 94 87 96
Ak <y L 485 680 613
n 91 91 92 81

Is thero any significant differenco botween the fortilizera? Does your answor
differ when tho yield figurea aro adjusted for tho No. of plants ?
4. The following data given tho weight of sun fidwers on the difforent days

Day Weight Day Weight
1 3.20 [ 3.23
2 3.23 ki 3.18
3 3.25 [3 3.13
4 3.20 9 3.08
& 3.25 10 2.08

Fit a parabola of (i) the sccond degreo
{ii) tho third degreo
to the above data and find tho residual sum of squares in each caso.
Also plot the actual and estimated weights, Do you think that the cubio
gn(-a a better fit than tho quadratic?
5. The following data aro for ml(-lhgonco teat (I.T.) score gmdu point avorages
(G.P.A.) and reading rates (R.R.) for 16 students:

LT, 2495 1 214 171 (ki) 178 225 1£31
G.P.A, 2.4 0.6 0.2 0.0 1.0 0.6 1.0 0.4
R.R. 41 18 . 45 29 28 38 % 28
L.T. ’ 118 193. 230 105 174 177 210 236
G.P.A. 0.0 2.6 2.6 0.0 - 1.8 0.0 0.4 1.8
R.R. 22 32 39 38 24 a2 26 29

(n) Find tho equation of tho regression lino of G.P.A. on I.T. scores and R.R.

(b) Find tho cquation of the regression plano of G.T. A, on I.T. scores and R.R.

(c) By making approprinto tests of significance, determine whorher (b) is
considerably botter thun (a) for ostimating G.P.A,
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COMDUTER'S CERTIFICATE EXAMINATION, AUGUST, 1035
Part IC : Secrion 11
Time : ¢ Hours ) Full Marka : 100

N.B. (s) Answors to tho difforent groups aro to bo given in scparato books.
(b} Answor ANY FIVE qucstiona. .
(c) All quostions carry equal marka.
(d) Use of Calculating Machines is pormittod.

Grour A

1. Evaluate the following dotorminant :—

3420 ~5536 1047
—17351 6207 2231
=413 —-4102 7603 ¢

2. Tho following data represent tho results of a randomiscd block design for Sve
troatments in four blocku —

Troatment A B [+] D E
Block 1 227 - 480 341 252 342

I 221 408 312 171 431

111 160 457 303 203 257

v 119 434 276 2390 470

Draw the analysis of variance tablo and test the following:— °
(i) whethor tho effocts of all treatinents aro cqual,
(ii) whothor the offocts of treatments B and E aro equal.

3. Find out 8, and B, for tho following frequency-distribution :—

* =" Claas interval Frequency
0— 4 13
55— 9 - 118
10—14 294
15—19 451
20—24 432
2320 287
30—34 131)
3530 . 16 -

Find out the suitable Pcarsonian curvo that may bo fitted to the data and
draw the curve ovor tho Hu(ognm. Calculato the expeclod l‘mquoney in tho class-
intorval 8-9.

Grotrr B
4. (a) Using a suitablointorpolation formula, find tho valuo of ain x, At z = 23,578°,
when tho function is given for tho following values of x :—
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r sinz

0° 0

10° 0.17365
20° 0.34202
30° 0.50000
10° 0.64279
50° 0.76004

-
(b) From tho givon tablo of values of :‘. evaluato (33.24!6)!.

z P

20 4.07232
30 3.10723
31 3.14318
32 3.17480
33 3.20753
34 3.23%01

5. Tho following table gives data on total monthly oxponditure of a Govorn-
mont from April 1949-March 1953 (in thousands of rupees). [March 1049, fgurce

is 736).
1040-50 1050-51 1051.52 1052.53
April 160 765 010 854
May 761 659 794 832
,June 525 554 638 592
July 559 660 681 590
August 537 519 865 574
Septembor 850 781 1038 . 1049
October 003 1104 1140 ) 1023
Novomber 789 003 968 974
Doocom bor 630 893 792 788
January 685 873 801 830
Fobruary 604 696 726 810
March 885 773 705 84

Find the scasona! indicos by the mothod of moving average.

6. Indicate tho sources of information and compilo the data roquired, for the
following itons, by using tho statistical roports or publications supplied to you.

(a)

(b)
(¢}
(d)
(0)

. Total number of engincering graduatos and gonoral arts and scionce

undor-graduates in Indian Union for latost ilablo two ive
years.

Total numbor of inland telegrams in the Indian Union for threo consocu-
tive yoars. .

Total yiold of food-grains, with scparato figurcea for rico, wheat, otc.,
in Indisn Union for two conscctuive years,

Figuros for monthly exports of pig-iron, for lateat availablo one yecar
poriod.

Total numbor of labourers employed in the Juto Mills, and othor factory
workers separatoly for the latcat available poriod.
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INDIAN STATISTICAL INSTITUTE

STATISTICAL FIELD SURVEYS CERTIFICATE EXAMINATION,
AUGUST, 1935

PaRrt 1 : SECTION A. (THEORETICAL)
Timo t 3 Hour Full Marks : 100

N.B. (n) Figura'in tho margin indicato full marks.
{b) Whunover you aro asked to givo information for your native Stato or Stao
of Domicilo, mention tho namo of tho Stato.

1. What uro the different classes of railway teavel and tho busic rates charged

for each of the Indinn Stato Rnilways?
Calculnte the fare from Jlowrah to Nugpur, a distance of 703 milvs, by 2nd
class and 3nd class when travelling by (a) tho Bombuy Muil, and (b) the Nagpur
Pnuungur train, (10)

2. Answer any two of the followi mg‘-—

(8) Namo tho Districts, Sub-divisions and nnporwm ruilway junction stations

of your native Stato. (8)
(b) Mention tho acecage, yicld and sowing and harveating scasons of any thrvo

of tho following crops in your State during tho lnst two yoars—Puddy, Wheat, Sugar.
cano, Jute, Oilsceds. {8)
(c) Mention Aho namce of tho Districts of your Stato which aro mainly ono
acropped or multiplo eropped.  State reasons why somo of them aro one cropped. Do
you think the one cropped lund cun bo conveniently converted into doublo or multiplo
cropped urea ¥ I7 tho anawer is in the afliimative, describo your suggestions, I
thy answer is nogutive, give rousons. ° ()
(<) What are the important crops which are grown in the Lirgeat arva of the

State.  Givo tho total arca and yicld of two of them in cither 1933 or 1934, Compary
thom with tho arca and yicld as in the previous yoar. Give reasons for tho changes,
il wny. {0)

3. Anuwor any three of tho following:
() What is tho demsity of population in your Stato according to the last
census ?  Namo tho districts of your State with tho highcst and lowest density,  (6)
(b) Mention tho principal flooded arcan, forvat arcas and hilly arcus of your
Stato numing dixtriets in which they aro situnted. Also mention the districta of the
Ktate which are adjoining (hoso districta. (©)
{c) State the adininistrative orgnnisations, if any, in the village, union, circle
und tehsil of one district of your Stato giving ahort notes on their functions, (6)
{d) Dencribo tho journey from tho capital of your Stato to tho Head quartera
of the district of tho State which is furthest thorefron, by milway, ot , OF any
other transport mentioning tho places of change, if any, onrouto. )
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4. Either
(1) An officer brought a ticket for s journey Ly first cluxs on & il truin of
Indisn milways for Ra. 38/8/. and got his personal belongings weighed, Mo was
charged Ra. 3/4/- as thoe frvight of the excess luggnge.  Caleulito tho miles ho travelled
and tho weight of the cxcess luggage,  What would havo been the expunses if ho travelled

by eecond clasa ? (8)
Or,

(b} (i) What arv the postal charges for sending somo muuza maupn weighing

44 tolns when sent by (n) negistered parcel, (b) o registered book post ? )

(ii) Re. 80/12/- aro-to bo sent o an investigator, What nro tho clurges
when sent by (w) money onder, (h) telegrapliic money order and () oxpress telegraph
moncy order when tho name and sdidrens of the payes.consista of 12 words ¥ )

3. Answer any one of the following :—

(a) (i) In an election, there wery two cundidates A and B, Two fifthy of
tho electors who guve votes, voted for A who wus oleeted by a majority of 200 votes
ovor B, whilo ono-third of tho clectors did not voto nt all. How many clectors were

there altoguther t . (4)

(ii) IF oranges aro bought at 12 fur 10 w4, und wold ut 10 for 12 ax., what is

tho gain per cont ? 0 )
’!

(b) 1t was decided to apply chomicul manurs to a paddy plot of 12°x 12’ in
three dozes at the rate of 100 Ibs. por sere, 80 Ib. per acro und B0 flw, per uero revpoc-

tively, How many ounces of manure .aro required ? . (8)
8. Answee any two of tho following :—
(a) Express 200 wq. miles in acres. ®).
o 2.6 x2.0x;’._;3-|‘-4.5x~l.5x~l.ﬁ of Rw. -4 na, o
{r) Evalunte
(0.3 of Rs. 4.6-10 )+ 4 of (Rs. 17-8.3 p) =1 of (1tw, 13-1.5 ) 5)
(d) Tho arva of a villago map was founcl un 288 wq. incles,  Tho seales of the
map was 16 inch = | mike, Caleulato tho arca of tho village, | (3)

2. Answer any one of the ]'ollnwlng:— )

(8) Tho annual nmsemtablo incomo of u man is Re. 10,000/.,  Ho pays income
tux at tho rate of 9 pies per rupeo for tho firt R, 3000/ und onv anna per rupeo for
the rest. Find tho incomo tax for ono year, {6)

(b) Spending st the rato of Re. 100/ per wnonth for 7 years, I hind incurred
some debt which was subsoquently cleared by reducing my yearly expenditure to
Rs. 850/« for 0 yeurs. Find out my amiiusl income which remained uﬁelmngcd during
the whole period. ©)

8, Answor any two of tho following :—
(a) Find by pmctico tho cost of 12 tons 13 cwt. 3 yr. 20 lbm. of conl at
Rs. 20-Gus.-8py. por ton,



{b) Two persona going to the samo placo had 8 maunda of luggago hol.w«\n'
them and werg chargud oxoesa fare for the luggage at Ra. 8/. and R, 4/. racapectively,
Had nll the lugiage belonged to ona person, ho woukl have been chargod Ra, 14/ for
excens,  Caleulato how much luggago is allowed free and how much cach had. {6)

(¢) Threo villagea z, ¥ and 2 are situated in such a way that y is just 5 miles
on the north of x and z is 12 miles on weat of r.  Find tho distance between y and 2.

(6)
9. The family budgets of threo middle class familica Fy, F,; and Fy during a half.
yearly period wero s unider t—

F,oo Fy Fy
Period
Incomo Expenditure Income Expendituro Incomo Expenditur
Ist wonth 236 253 169 186 210 234"
2l do- 217 234 183 17l 107 188
3rd  .do- 198 245 175 189 203 193
4th  -do- 219 211 132 175 215 220
hth  .do- 24 230 157 IR% 103 201
Gth  .do- 24 228 164 190 200 212

Culeulute tho averago incomo and averago cxpendituro for () each family
per month, (b) all fumilica taken together month by month,

Making w0 of all relovant dats, expresa in percentago tho surplus or deficit
of average income per family during tho entiro period over tho corresponding avernge
expendituro, {12)

Neatnesa, (1)

STATISTICAL FIELD SURVEYS CERTIFICATE EXAMINATION, AUGUST, 1955

Part ) ¢t S8ecrioN B (THEORKETICAL)
Time : 3 Hour Full Marks : 100

N.B (a) Figures in tho margin indicate full marks,
(b) Mecntion the namoe of Nntive Stato or State of Domicilo whenover you are
asked to give information ahout your State,

). Anxwer any fwo of tho following 1—
{n) Name all the Part BB States of Indian Union and their Headquarter towna,
8)
(b) Deseribo the course (Name the Statea in Indian Union through which it
flowx) of any ono of tho following rivera mentioning tho name of the important towna
situated on ita hanks, (8)

(i) Ganges, (ii) Jamuna, (iii) Godavari, (iv) Kaveri, (v) Brahmaputra,

() Givo any four of tho lollowing information in reapect of your Native Stato
or Stato of Domicilo i— (8)
(i) No. of Divisions, (ii) No. of districts (iii) No. of Tehaila or circles,
(iv} No. of Thanas, (v) No. of villages, (vi) Namoa of towna, if any, having

moro than two lukhs population,
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2. Answor any four of the following —

(a) What will be tho pontal charges for romitting Ita. 80/ by oxpress tele.
graph money order to the address given below r—

Sumir Boso, -
48/F, Daryaganje,
Dolhi.
with A measago of 8 words ? (4)

-(L) What will bo tho charges for romitting Ra, 750/- by Insurod Post or hy
M.O.? Ilow can this bo sent by M.O. ? )

{¢) What will bo tho charges for sonding & packet weighing 100 tolaa hy

registered parcol and by uaregistered bookpoat ? . (4)
" {d) After how many miles of travelling can a passonger having a Firat Clas
ringlo journcy ticket for 1213 miles, . )

(i) break his journey firat ? i
.. (ii) at how mony stations can bo break journoy thereafier ?
- {iii) for how mony days in any ono station ? and
(iv) for how many days in all ?

(o) Name (i) threo articlea which connot bo earried sa personal luggnpe,
(ii) two classes of perrona who aro not allowed to travel in paxacnger traina, ()

{f) You have purchased a ticket from atation A to station B. You want
to proceed further to atation O by same train. How would you obtain a ticket for
journcy from B to C? 4

3. (a) Name five mast important crops of your Native Stato in ordor of import-
anco and state tho sced rate per acro and tho scasons for ploughing, sowing or trans
planting and harvesting scasona of tho last two of your list. {8

(b) Give tho following information for the most important ceroal crop and
also for the most important cash crop in your Stuto or State of Domicilo for last two
yeam,

(i) Total acreage, (ii) Yield per acre in maunds, (iii) Seed required per
acre, (iv) Total yield in suitablo units (unit of measuroment should be
mentioned). R)
4. Answer any fwro of the following :— . 4

{a) A rectangular field 120 fi.x 100 ft. has a grass plot 60ft %50 ft. in the
contro Find tho cost of paving tho reat of the aren at Ra. 4/8/. per square
yard ? (8)

(2) Find tho valuo of o 1T9025—(5.90)2 (8)

correct 10 2 places of decimals.

(3) A sum of monoy trebles itsolf in 40 years. In how many yoam did it
doublo ftsolf ? (8

5. (a) When two or throe cropa are grown in a plot in mixture (as distinct from
ono crop following the other in the same plot during tho samo soason) how woukl you
estimate the proportion of arca and outturn under each crop acparatoly so as to make
thom comparablo with the usual proceduro of catimation in the case of single crop
cultivated in & plot ? (8)

(b) In crop-eutting experiment, how do you locate and mark out a sample
cut within a paddy plot chosen at random ?  What procerduro do you adoept in reapect
of plants falling along the proremeter (hordor) of tho samplo arca ? L]

6. A part of a fillod-in schedulo is givon below, Scrutiniso the schedulo and
point out the mistakes, J{ any. (Anawer shoukl bo written in tho answerpaper and
attached to tho answer book). : (18)

Neatnens. 4
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STATISTICAL FIELD SURVEYS CERTIFICATE EXAMINATION, AUGUST 1955

PART 1 ¢ SECTION C (THEORETICAL)

N.B. (a) Figures in tho margin indicate full marks.
(b) Uso of Culculuting Machines is not pormitted.
(o) Wherover you aro asked to give information about your State, mention
the name of tho State.

Timo : 3 hours ~ Full Marks: 100

1. Answer any three of the followiné —
(1) Doseribo a journoy from London to Bunbuy via the Capu of Good Hope,
Stato tho countrics you would paxs through with the numes of the oceana traversed,

)
(b) What do you know of uny three of tho following :— (_)
(i) Ottawa, (ii) Montroal, (iii) Tho Andes, (iv) Tiw Nile, (v) Cunbeorra,

(vi)' The Volga. [

() Stato tho nams of tho importunt ports of tho following countrics —
(i) Soviot Russin, (ii) Canada, (iii) China and (iv) Turkoy. )
(d) Stato tho numes of the countrics which lie (i) north of Pukirtan, (ii) east
of Turkoy and (iii) South west of China, )
(0) What is tho shortest land route from Kabul to Puris ? (U]

2, Answor any three of the following :—

(s) What is tho total scheduled caste population of your State (excluding
hoduled tribos), Jing to tho lust census 2 Which is the district with tho highest
ration of scheduled cusica ! Tn which diatrict in tho concentration lowest ?
)

(b) Give tho arca of your Stato under (i) enrrent fyllow, (ii) cultivablo wuste
excluding current fullows, (iii) arca not availablo for cultivation. Defino the eategories

and mention the source of your information. * )
(¢) What is tho total cropped area of your Stato and the area sown moro than
onco? Stato tho cropping programme fullowed in apect of the latter arca, )

(d) Givo the total number of milch and other cows of your State according
to tho last Cattlo Consus. What do you know of Free Inidia’s Cuttls improvement
programmo ? )]

(o) What aro, according to the latost published census reports, tho districts
of concentrations of minority communily in your Stato? What pereentago of the
total population of tho District such minority community constitutes

4)
3. Answer any three of tho following : (

(8) Describo the seasonal pattorn of rainfull in your Stato and their rclation

with the crop soasons.. . (8)
(b) What aro tho reasons for proforenco to cultivation of oach of tho fullowing
four crops in India t (i) Paddy, (ii) Wheat, (iii) Juto and (iv) Coiton, ()
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{c) Whut aro tho irrigation implemconts in uwso in your Stato ? What arv
the prowent sowwces of irrigation ¢ Alwo give the percentago of irrigated arca to culti-
vated area of your State at prewnt. (6)

td) What aro the districts with tho lowest rainfall in your State ! What arv
the methods of artificial irrigation, if nny wlopted for tho cultivation of major eropm
of the districta ?  State briclly thw sources of irrigation und impleinents in vso.  (0)

4. Answer any three of tho following :—

(a) What ure the rules and termns of share cropping in your State ? Do you
think tho aystem of share-cropping is fuvourablo for tho mloption of improved agri-
culturs! practices ' Give reusot for your reply. ()

{L) What aro tho usunl wago mitea and other conditions of employment of,
‘rural fabourem in your States ! Aro thero uny varistions in tho types of work in
which they are employed in the difforent quarters of the year beginning from January ¥
{c) What are tho sources fromn which you can obtain tho following :— ©
(i) Lint of houscholdy and lise of plots in villagen and clasification thereof,

(ii) Prevaleny rates of wagen for labouroms .
(iii) Provalent wholesals and retuil prices of ondinary cummodities used by
peoplo in rurul arcas, (6)
(1) Stato bricfly the functious nnd duesignations of the principal officials of

the fullowing in the Districta of your Stato ;—

(i) Union Board, (ii) Village Panchayat, (iii) Revenus Adwninistration,

(iv) Civil Justico, (v) Irrigntion. [0)

3. What sro tho mncrits and demnerits of o raiclom samplo survoy and & comphte
cvaaus ? . {10)
® 6, It in proposwd to cnrry ont a ! plo suevey regarding the extent of

rurul indebtednens, wirleromployment and unemployment in rural areas of your State,

Tho survey will he nestricted to 3 samplo villagos. A list of howwholds
will hinve t0 ho preparail for caeh such villugo and 30 houscholds will by seleeted by
rutidom sarepling in each of theaw villages for the enquiry.

Axsuming that six schedules dzaigmaxd for the enquiry ean be flled up by an
Inveatigator por duy and that thers will bo an Inypwctor ovor 4 Investigators and one
nupervisor over § inipector to ensum wdeguato supervision, givo a detailed estimate
of &tafl and cont for Aelil survoy, if the survey has to bo earried out in threo months
inchuding all operations ard usual wastago. {20)

7. What are the varicus ty pea of powible son-wunpling errors, which may roflect
in the ostimaten arrvived through u sample survey hased on interviow method ¢ Men.
tion sono of the important sources of such orrors and the steps you tanko to roduco
them, - ' (10)



STATISTICAL FIELD SURVEYS CERTIFICATE EXAMINATION, AUGUST 1953
PART 2: SECT! ON A (THEORETICAL)

N.B. (a) Autonpt any four questions.
(b) Figures in the margin indicato full mucks.
{c) Uso of ulculating machines is not ponaitted.

Time : 3 hours Full Marks : 10

L. (u) The valus of consumption (in thirty duays) of food graing of & rundon
somple of 100 fumilics in un urban arcs aro given in the ettached sheet,

Prepare froquency chart with 12 oqual clasy intervals ond ealculuto the
standurd duviation and cocllicient of varintion and give your comments on tho result
from administrative point of viow, (13

{b) The acreago under juto for six yvars nnd its percentago to nonnal nervap
uro given helow.  Fivo figures aro mixing. Find out theso minging fguren,

Acreago under Percentago of tho
Year Juto during years acreago to
tho yeur tho normal
1945 8467 107.31
1946 0328 80.20
1947 0496 ceee (W)
1048 (n) © {e)
1049
1950 7650 e (d)
6 yvars uvornge 7861 ceee (0) Qo)

mic conditions of uny one of tho following munnll sealo facturing cwt
in y'our Stato—(i) handloom, (ii) Bidi, (iii) carpentry. (13)

(b) What arv the major items of infornmation inclided in your schedule?
Dincuss the naturo of infervnco thut in intended to be drawn from thess data oither
by themselves or in conjuniction with othens. (0

2. (n) Prepuro a schedulo of enquiry with a view to bring out the present econo.

3. Itis pmpoued to conduct an integrated samplo sm‘\':\y in a stute with an ares
of 23,000 sq. wmiles for:—

(n) An acen survey with a samplo of 10 cluster of 40 pluts euch from ench of
400 villngen,

(b) A study of the socio-vconomic conditions reluting to cmployment and
unemployment and consumier expenditure pattern from 12 ‘houscholds from ench of
o sul plo of 200 villages, and

{¢) A crop yiold survey by crop-cutting oxperiments with two cuts per culster
in the fimt two clusters in u village from a sub-saaplo of 100 villuges.

The crop survey and crop-cutting is to bo duno in respect of the fullowin’
cropa of which sowing/transplunting periods und harveating poriods aro shown below i~
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Crop Sowing|transplanting Harvesting period

. period
Autwon Murch-April July-August
(Bhadut)
Winter Juno-July DocomberJunuary
Rabi October-November March-April

(&) Draw up a completo list of ficld organisation that would b noccssary
for carrying out tho nbove work mentioning the work-lond proposed fur esch field
worker and inspocting staff. )

(b) Draw up nlso a time progrummeo for the above work on the assumption
thut ench house-hold would have to bo vinited onco a quarter during a continuows period
of 12 wonths (mention the actual period of )2 momlm which would Lo mont uppro-
printo for carrying out the work) (25)

4. (8) A samploe survey for ascertuining the goneral economic mndilion of the
population of & town was conducted.  Informution from 1000 families out of a sclected
samplo 1500 was collected. Thy rest refused to give uny infonnation of the investi.
ytors who appronched them. What would you dv under theso circumatunces ! In
cnso you want to adopt 1noro 1hnn ona line of uction mmultnnouusly or ono after unoth--r.

mention ‘sumo. T c (7
(b) What aro tho special advuntuges of baving two indepondent half samplow
surveyed by two different partics of investigators in the field operations.  What would
bo tho effoct of half snmpling on the field strength t I€ tho full snmple enlly for a
primury strength of 500 investigator months, what will be tho overall effoct on the
ontiry Acld budget ! Very rough indication will suflice.  Assumeo that tho work has
$0 bo completed in 10 months and the urou coverage of survey about 300 sy, miles.
(18)
3. (1) A Government servunt who moved on a trunsfer in November lant yonr,
hus just submitted a transfer T.A. bill charging forvs for {a) self, (b)- eldeat non nged
24 who wus tompornrily out of omployment and {c) dependent dnughter-in.law,
(d) marriod duughter aged 18, (¢) wodowoed dependent mother and (f) cripple depen-
dent brother all of whom moved with tho Government servant, Ho also clhimed
T.A. for (g) dependent son sged 20 who wus in a college hiostel at tho old atation and
came on holiduy on May lust with (h) the youngest dependent son uged 14 who was
left behind with a friond to comploto his school annual examination boforv joining
tho fumily ut tho new etation.

For which of tho rolutions, do you think, truwfer T.A. is not admiwsible ?

Nuino tho purticular codo or rules on which you nely, if any, o)

Thero was u wayside misconnuction and for no fuult of theirs the family on
trunsfer journey had to puss au extra night to in the railway ) wes, Will
halting sllowunco bo sdmissible for it ? (&)

(b) State tho sction you would tuke in any three of the following cuscs.
(i) An inspoctor has subinited & T.A. bill for a journcy which docs not
tally with the town dutails indicated in his tour divry, ]
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(v) A peon wus sent to post a registered ond i 1 covering

(ii) An inspoctor hss Jod the euspension of an investigator, pending

onquiry, on the ground tho inspeclor on a surprivw visit, could not find
the investigntor in tho Union (group of villuges) in which ho was to huve
been working,

(iti} An investigator, whilo returning from a sucvey in tho ovening was bitten

by a snuke and had to remain in liospital for a week. Ho has applied
for this poriod to bo treated vs duty or special leavo with pay. [&]

(iv) A cushier, at tho time of vorificution of cash, cunnot produco nn amount

of Rs. 210/ and o crossed chiequo for Ra. 400 which wan to havo heen
in tho iron sufo under his churge. 1o states that ho has left theso for
sufo custody at his home und wants to produce the samo on the
“following duy. (3)

b

Ra. 200/-. Ho roturns to offico and reports thut the cover wus snutched
from his hands when ho wus cntering post oflico, )

DATA FOR QUESTION 1

VALUE OF CONSUMPTION OF YOODORAINS IN THIRTY DAYS OF
100 raniLIEs

sl Sl . 8L - SL,

No. Valuo No. Voluy No. Valuo No. Vaulue

of Ra. of Rs. of Rs. of Ra.

family family fumily fnmily
1 9.1 20 20.7 51 16.1 76. 17.3
3 1.2 27 19.8 52 17 18.4
3 2. 28 18.5 53 8 10.3
4 4.7 39 17.4 54 0 17,
5 7.0 30 16.3 53 80 18,
G 10.4 31 15.2 50 8 2
7 17.2 32 4.1 57 aé 5},:8
8 18.0 33 13.0 58 83 2.0
0 6.3 34 12,9 59 84 2.1
10 12.2 33 1.8 [i{1] 85 4.2
11} 11.0 38 10.7 6l 86
12 21.5 17 9.0 62 87 1
13 26.7 33 8.5 63 88 3.5
14 10.3 39 7.4 64 80 W
13 11.0 10 6.3 63 90 3700
16 12.1 41 11.1 60 3
17 13.8 42 1.2 67 Ré ,H
18 H.3 43 12.3 68 03. 51
19 13.4 " 12.4 69 4 287
20 18.5 45 13.5 70 03 2.3
2 2.2 40 13.6 71 06 30.1
22 27.3 47 4.7 2 07 3.2
23 R4 RL] 1.8 73 03 7.8
34 29,5 4 15.9 7 99 8.0
23 30.6 50 6.0 13 100 10.2




STATISTICAL FIELD SURVEYS CERTIFICATE EXAMINATION, AUGUST 1655
Part 2: SectioN B.(Tn:onmcn.) *
Time : 3 Hours Full Marka: 100

N.B. (8) Attempt any fonr queations,
(b) All guestions earry equal marks.

1. In a proposod od hoc soci ic aurvey, an the person reaponaiblo for the
ficll orgnniration, you have boen asked to give your requircments,

About 12,000 schedulea are ‘to bo filled in from the samplo houscholds of a
city, threo aatolito towns and twonty-four neighbouring villages. Tho field work in
1o bo completed in the four month perind November-February with 15 days beforo
for mobilixing and training of atafl and 13 days afier for closing down operation, In
n preliminary try.out each acheduls took ahout 23 hours to gl in.

Give a detailed statement of your field stafl roquirements, with justifications,
suggeating anlaries and allowances,  Also give an abatract budget of your total entimated
ficld expeniliture, (23)

8, Tho diariea of Investigators and Inapectors and tho filled in schedules in
napect of a survey have been received by you and you have to tako an appriral of the
work of ench Inspector and Investigator for purposcs of recommending promotiona,
other rewards, warnings or punisliments, The Inapectors have also given subjectivo
reports regarding reliability, sincerity ,active or lazy habits, tact and peruasiveness,
&nowlwlge af tho subject of enquiry and methodology tliereof, initiative and con.
duct.

(a) Outlino a form of an investigator's diary, routine inspection report and
also & proforina of subjective reporting by tho inapector so that all important facta

for a proper apprinal is well considored. (15)
{b) Could you suggest itema for incorporntion into tho working schedules that
will help in making s quality appeisal. {10)

3. Outline tho actiona that you as the SBuperintendent of Field Work in a survey
by the interview method will tako in the any fire of the following situations, giving
reasons in beiel =—

(a) Tavestigatars has scnt an exprems letter requeating you to accure police
help as tho villagers refuscd him information and assumed threatening attitudo : the
samplo village is disturbed with a acricous tenant.lundlord disputo which has mado
the general hody of villagers suapicions and hostilo to all officiala. {5)

(b) Telegraphic inf tion is ived that Inveatigatorina romote village
is down with suapocted cholora: it was known that cholera in epidemio form had
broken out in the area, . : {3)

(c) Jaapector reporta that Investigator has lofe samplo village in a hurry for
his distent homo town, on information that his futher was on death.-bed, on meaking

n




an informal request in a poat eard that ho may bo granted 2 to 3 woeka' laave, Tnveati.
gator comploted honso listing and detailed enquiry in a few sample hogsoholds.  (5)

(d) Information is received that Investigator who made an abandoned tomple
outside the main villago hia temporary abodo wns arrest¢d on aunpicion following an
oxcise raid in which unlicensed cultivation of excisablo plants was discovered in the
backyard of the templo. (3)

(0) A retired superior railway ofiicial, head of a samplo houschold refuss
to co.operate and the Investigator and Inspoctor fuiled to bring him round. Ho saya
ho wna not satigficd ns to whut useful purpose the survey was to serve and not con.
vinend why he had been aingled out in the neighbourhood for spocial attention.  (3)

(f) It has been brought to your notico, through an anonymous letter that
ono of your Investigators has travulled in third clasg but has elaimed second class fare,
(5)
4. Write short explanatory notes on any fiee of the following :— (25)
. (a) Dborder bins in sample cuts
{¢) cottage and household industrios
(d) occupution and meana of livelihood
(¢) referenco period of an enquiry
() running and fixed travelling allowancea
(g) cereal and cash crop and thoir operating sensona.

5. (a) A prehensive memor: is required to bo submitted by Novomber
thia year 10 assist in policy decisions about externnl trade, erop promotion and price
support schemes of next year, All statisticial information availablo in official publi.
cations or rocords ahout acrenge, production, stocks, export-import, prices and con-
sumption of the major cereals, particularly rice end wheat, for tho past fow years,
are to he pr 1in thoe lum for the country as a whole. ¢

You have been nsked to colloct tho material for preparation of the memoran.
dum. List out the publications and rocords that you will consult, mentioning the
itoms of information that you will get from each.

Current acreago and production forucasts are also to be taken into account
with a view to mako hest use of tho latest availublo information, (15)

(b) Supposo you are required to stay 3 duys for inspeeting tho work of primary
investigators in regard to crop cutting and socio-cconomic survey in a village.

Describe what pointa you would look for and exactly how you would proceed
(inention timne, stops and actions for entiro period).  Would the method of your inspoc-

tion bo diffurent if you stay in a small waysido town, 5 miles away from the villago ?
(10)
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STATISTICAI FIELD SURVEYS CERTIFICATE EXAMINATION, AUGUST 1935

PParT | 1 NecTioN A (PRAcTICAL)

N.B. Yigurca in the margin indicate full marks.

Name of cnndidnl.o i Roll No.......

Native Stato
Stato of Domicile

(Time allowed for questions 1, 2 and 3 : 40 minutes)

(Ansiwer here) ..

I, (n) Stute the types of maps most com-
monly in uw in your Stato along
with the difforent seales for each .
type. )
(b) What are tho different scales of &
mup in° which individual plots
(eurvey numbors) are shown ! Ian't
one stundurd scale sdequate for all
places ? (5)
2, Stato what aro signified by any three
of the fullowing symbols in a diatriet .
map :— )
o (D
)
(3)
3]
(8)
(6)
© Or,
Draw aymbola of any three of the
following which are shown in tohnil or
thana map :—
(i) Cart track
(ii) Railway lino
(iii) Church
" (iv) Canals

(v) Descrtod village sito
(vi) Marshy lund (Beel).
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3. (n) What equipmenta would yon take 1,
for enrrying out erop cutting experi-
menta in samplo cuta {of 23 aq. fi.
cach) within a paddy or a wheat
field. Dry weighta will alko Lo 3.
required.

1w

(b) State in brief how would you locate ’ W
a aamplo cut within the erop ficld

(¢) If you aro asked to sclect two crop
plots at random in a villago and 1ake
one ent per plot, what would you
do under tho following circums.
tances s— (6)

{i) Tho crop in tho first aamplo eut
is found to bo totally damaged,
(if) The erop in tho sccond sample
cut ia found to bo immature,
(iii) On account of flood, the erop-
plot for experiments, ia found
to have already gone inder
kneo.deop water and the culti.
vator wanta to harveat tho erop
without any delay.

4. (a) Identify threo plots on tho ground which are shown to you on the eadastral
map furnished. (]
(b) Identify threo plots on the map from plota shown to you on the ground.

W]

6. Preparo a list of 23 houacholda with sorno particulars and record in Form IA-L
Tho locality for listing will bo apecified by tho examiner, (20

8. For tho list of 5 plota aupplied 10 you, find out by inapection tho anna pro-
portions of their land utilisation (crop as well aa non.crop necounting for 16 annas of
the plot) and record in Form Ne. JA.2. (20)

7. Viva Voco on filled in schedulo and problema arising in conducting field work.
02
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STATISTICAL FIELD SURVEYS CERTIFICATE EXAMINATION, AUGUST 1035
, Part 1 : Sectiony B (I‘nA\c-nc..u.)
N.B. Figures in the mnrgi'n\ indicate full marks
Ful! Murks : 100
Nnmo: Rol‘l No.coieviee

1. Extract tho area of five plots indicated on a villago mup of wealo 16 inchus oqual
to 1 milo supplied to you without the help of acro comb; uso of foot rule, pencil and

divider is allowed, (10)
Thana Nutno of Mouza T.C. No.
Plot No. Area B
2. Estimato in yards by eye estimation :—
(i) length and breadth of a plot shown to you. (1)
(ii} length of the two dingonals of a plot shown to you. . )
(iii) distance (from tho placo you nro standing) of a building, or a treo or a
flag shown to you. L))

3. Estimato tho arca in ucros and ducimals of four plots shown to you on the
ground by eye estimation only. (8)

o 4. Identify five plota indicated on tho mouza map supplicd to you and give
annawari eatimate and eyo estimution of arce of the land wutilisation under as many

heads of utilisation as possible. (15)
Thuna Namo of Mouza T.C. No..... ‘ee
Plot No, Itom of Annawari . Eyo estimato
utilisation proportion of crop arca

5. Fill up the schodulo (Fora IB-1) by endquiry for any onv of the following
housoliolds with cultivation as principal occupation.

Serial No. Numo of head with Address
futhor's namo

{Mnrks ollocation ; Block I-2, Block II-8, Block IT1-12, Block IV-6, Block V-10,
Block VI-12),

6. Viva Voco {10)

33



Forwm IB-1
Block 1: Identificution of houschold

1o DiSLRCl cevsnessrsonncnssniesssnans B 0 1 S

3. Thana..

5. Hamlobeeeersennnn 6. Nearest Rly. Station..

7. Noamo of tho head of household.......... Sevesesresraaeannaians

Block I1:  Housing Conditions

(Answers which sro not approprinto should bo struck off or put
ring round the appropriate code.)

1, 1louso {a) Typo (b) Ownod-1/Rentod-2
tPucca-1, Katelm-2,
(¢) If'rented, ront per month Réuueveeunienanns
2. Bed rooma—(u) P I (b) Aron of floor spince (8. o) siiiine...
{c) No.of doord..eevenecaasnansss  (d) No.of windows.svoeueroaann.

(o) I there is possibility of freo circulation of air—Yes/No
3. Kitchen  (u) separato/within bod room '
() Is thero good outlet for smoko—Yex/No
4. Storo—scparute/within the bed rouom/within the kitchen,
3. Latrino—scparate/joint with other housohold.

6. Drinking water—filtecod tup/tubo woll/uther sourcce.

Pucea or katcha according to 2 or moro of plinth, wally, roof aro pucen
or kotcha.
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I1B-1-1
L]
Black IIT: Mombers of houschold and their occupation.

Ago

. . o\ -t Kl . .
mo. T | Do | bawn | 2 il=% g1 | Principn! ok
N a 1 cr Ol
Iead | -1 day g R & _5, g _E, importance to
! Female | (ym) [ 22 |23 R be written one
———r TR efterencther

t Marricd-1, Nover marricl-2, Widowed-3, Othem—4,

R tt Eamer-l, Faming dopondent-2, Non-earning dependent-3,

Block 1V :  Income and expendituro during the last 3 monthn (90 days) from the date
preceeding the date of onquiry.

Averago income per . Averago expenditure Averape per capita
month during the per month during oxpenditure por
last 3 montha tho liat 3 montha month during the
(Ra.) (Ra.) last 3 months
n (2) 3)

N.B. Attach working sheet if any (blank sheet will ba supplind).
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I1R-1.1

Dlock IV ¢ Reccipta and Expenditures during 30 days proceding the day of enquiry,

Receipts

Ra.

Domestiec Expenditures Ra.

1. From Principal Occupation 1. Cervals and pulses
2, From Suhsidiary occupation 2. Milk and milk products
8. By incurring loan (cash or kind) 3. Other fooil articlea
4. Sale of property amil nsnte 4. Bub-total (food articles)
5. Other sourcea (ileweritv) *3. Fuducation
() 6. Madical
(i)
(il 7. 1ouwo rent (excluling tax)
i) 8. Fumiture, utensila
0. Clothings, hedilings ote,
10, Other oxpennen
11, Sub-total (athar than fond
articlus)
12. Total (4 +11)
1, Name of Investigator. covu'sseresratevearscrareesererssessssassansnnens
o 2, RimAluM...iiiiiiieciiciiniieinaes 30 Dol iiiiciniiiieiiiid,
4, Timo of receiving the chedulo. coveiiaiiiiiiiiiiiiiiiaiiiiiiiiigie,
5, Time of returning the schedwlo. vuveviiiinnriariciirsrsisnirsoansianees
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STATISTICAL FIELD SURVEYS CERTIFICATE EXAMINATION AUGUST 1953

Part IC : Practicat
Full Marka : 100

1. Enlist 30 houscholdx in a apocified arca, Scloct aix houscholils aystomatically

with a random start. 10)

(Right hand digit of the roll No. of tho candidate shoull be tho column

. number of tho random number churt to bo used by the candidato. Tn the caso the
right hand digit ia 0, tho column No, will Lo 10.) )

Fill up achedulo IC-1 for the aclectod six houacholds, ®)

or more per month on consumer goods and has not leas than five resident memben
in tho houschold. . (40)
Block 1.2, Block II.8, Block III.6, Block IV.12, Block V.12,

(b) Narrate briofly your con ion with the inf t at the time of collect.
ing tho data for achedule 1C-2. How do you infor that the informant gave you rea.
sonably corroct information ?  If you have got any doubt about some of the figure,
mention tho reasona of suspicion. What should bo the correct approach to convince

2, (s) Fill up achedule 1C-2 for a aclected houschold which is apending Ra. 2307

this typo of housohold ? (10)
3. Intelligenco Test. ’ ’ . (20)

4. (a) Estimats the woight of & gi.wm mass without woighmont, (8)

(b) Look round a place for & minuta or 80 and anawer. s quostion. (8)

. 5. Viva voco. . .9

LIsTING OF HOUSENOLDA

Rorial  Holding Namo of No. of Exponditure No. of alected
No. No. hoad of h.h, moath houschold
housohold members n Rs. (00)
(¢)] @ 3) (4} (5) (8)
l o
9 -
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Brocxk 111

(Fill up for two pnirs nccording to seniorily)

Identi- Ago at Identi- Agout
fication ° . fication
Sr. . Sr.
No. Murringo Present Doath  No. Marringe Presont  Death
as (ym.) (yr.)  (yrs.) imn (yrs.) (ym.)  (yr)
in n
BLIK BLI1
Husband Hushand
Wifo Wife

«l, Sox of Interval DPresent Death
no. child period (years)  (years)
Mulo 1 (month)

Sl Sexof Interval TI'resent Death
no. child  poriod  ‘(ycars) (ycars)
Malo I (month)

0. Name of tho candidato......covunns

10, RollNowoviriavivanriansnnneess

Fomalo 2 Femalo 2

l.

2 2
3 3
4 4
3 5
[ (]

1 7
8 8

Brocx I
1. ousehold Sorinl No..ooivviaviivannnas Cetsisesrensesensane
{as in Schedulo IC-1)

2. Head of housebohd...eviiiiiiiiiiiiiiiiiiiiiiiiii
3. 81860 eenrrirnereeaerarsiiinss 40 District cuvvvren..... e
B. Town .c.veuvenvrinnannenannasns 60 Ward/Union coviiniiniiiiiiinncnanns
T. Streeb.ivvsicnearineinaiiaiiesss 8, Youschold No..........
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Brock 1V

Exchango and consumption during month ended on........

Purchasod in exch C ion
Sl. Itom = Stan- -
No. durd Monoy Gools & Quantity  Value
Sorvicos (00.00) (00.00)
. (Ra.)
Qty. Valus Qty., Valuo
(00.00) (Rs.) (00.00) (Its))
(00.00) (00.00)
) (2 )] ) (5) (6) (7 (8)" (9)
1 Rice Sr.
2 Rico products Sr,
3 Wheat " s
4 Wheat products  Sr.
6  Other corvals sr.
6  Other corenl
products Sr.
7 Pulsos Sr.
8 Oilete. Sr.
9  Vegotabloes Sr.
fo  Fisn Sr.
11 Salt Sr.
12 Othor food
articles Se.

13 Food sub-total X
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Brock V

Recoipts and disbursoments during month ondod on............
Receipts Disburscments
8l. Itom Value St. Itom Valuo,
No. . (Ra. 00.00) No. {Rs. 00.00)
) (2) (3 (n (2) 3)
1 Salo of agricultural 1 Exponscs for tho ontor-
produce prisce
2 Sale of non-agricultural 2 Expenses for sorvices
produco
3 Taxes ote.
3 Earninga of Trado
4 Salarics, Wage ote.
4 Earnings of Transport
6 Rent of land, houso cte.
6 Salary, Wages
8 Rent of other commodi-
6 DPension tics
7 Ront of houses or .7 Cash Deposits (banks, insur-
other articles anco, Providont Fund)
8 Loan 8 Purchaso of Govt. paper,

9 Salo of commaoditics
ete.

/
10 Remittances, Qifta ete.

sharo, land ete.

9 DPurchaso of other assets
and their improvomenta

10 Purchaso of consumahle

11 Other goods
11 Romittances, gifts, loan
repaid ote. .
12 Total

12 Total
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Grour B

3. INTELLIGENCE TEST

Figurce in tho margin indicato full marks
Full Marks : 20

"Anawers 1o be wrilten on this paper

(a) Namo

(b

)

(c)

(C)

{0

)

{f)

&

(h)

{i

Roll No.

How many common words can bo formed from the lottors in
tho word *Thoro’ without re-arrunging the ordor of any of
tho lotters ¥

A boy swmins upto 4/7 of a pond and then 'ﬁnding him-
self tired roturns to tho starling point. Wag it possiblo
for tho boy to cross the pond ?

Mre. Roy haa 13 childron oll born ono and one-half yonrs
apart. What is tho ago of her oldost child who is just 7
times older than the youngest ?

A gocs 13 miles in 4 hry, and B goes ot the rute of 3§ miles
por hr.  Who is faster ?

A clock takes 6 scconds to strike tho hour of six. MHow
many sodonds will it take to striko the hour of olovon ?

How many posts will be roquired to fonco & fuld
60 yds. % 60 yds, when tho posts are placed 10 yda. part ?

How many piccea of cloth measuring 4 ft. X 4 ft. can bo
taken from a picco of cloth moasuring 18 ft. x 16 ft. ?

Find out the missing figures in each of the sorics shown :—
(1) 87, %0, 76, 85, cevy crup senp .

(2) 17.4, 17.5, 17.8, 18.3, .eey ccos oovs

(3) 4 M, ..., 3, ..., 54,

(4) 25, 49, 8L, «uvy vouy

(k) Fill up tho blanks in tho division worked out :—

29¢)G°87°(*76
50*

1027

17°1
156¢
1518

27

41

Timo : 20 Minutoa

Anawer

Answer

Answer

Anawer
Anawer

Answer

Answer

[



() Find tho mixing figures in the following tablo :—

Total
x 20 4 ? ? 125
y 1 15 ? 143
Total 15 130 63 270

(m) A laddor whoso foot in placed on the ground 20 ft from
tho front of a houso, reach a window at a hoight of 48 ft.
what in tho length of tho ladder ?

STATISTICAL FIELD SURVEYS CERTIFICATE EXAMINATION, AUGUST 1955
Part 2: SEcTiON A (PRACTICAL)

Figurca in the margin indicato full marks
Full Marks : 100

1. A schedulo 2A is attachod. Fill up tho achedule for any ono of tho house-

holds residing in tho addresscs mentioned below 3 (60)
Serial No. Addreases of the households (ta ho fillod up by tho oxaminers)

1

2

3

2. (a) \.\'hnt, in your opinion, ia the most suitable timo to approach tho infor-
mant to fill up a schedule ' Give reasons, Is it possiblo for any informant of the
houschold to answer all the querica? Whom do you think to bo the mest-suitable

person t0 help tho informant and why ? (3)
(b) What are the questions which tho ml’ormnm. did pot like to answer readily !
What is the causo of this dolicacy ? (8
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(¢} Duscribo the difficulties, if any, that you fuced in collocting the figures
for different itefns of this schedulo. Discusa tho items which should have beon eplit
vp into moro iterms to clicit botter figures, Suggest improvoments of tho schedulo
for a family budget enquiry.. (12)

(d) How do you proposo to verify tho statements mado by tho informant ?
What are the important itoms which can reasonably be verified to arrive at corroct
figurea ¥ {15)

Duo consideration will bo mado for ncatness in awarding marks,

Allocation of marks for illing up the different blocks in tho schodulo
for Quostion 1.

I 5
11 10
1t 10
1v 10
v 10
VI 10
vII 5
60
Forw 2-A
R Family Budget Survoy
Name of candidato.c.veeuervieiisersesennenss cirean weerensns ROl NoOGcavaeena
Date of survey..... vecssasass, Startingtimo............ Returningtimo,.....
Time for:  Journcy Both Filling Contacting
(Hrs, Min.} wayS...... eeeo 8chedulo........ houschold............
Brocx I
Name of head of housohold...ovvieieivisierinriiseiacersnanaads [ETTTTTIN
Name of Informant...ccoivveiaienaasnsnensnesss. Relation to head............,,
Head availablo—Yea/No. If NoJwhy.ovusiieniiivianananaaas treenanenaas
Namo of Street...o.veueiiriavssssassares.Houso Noiouon sees Rentoooo....,.
No. of storeys of the houss.............. No. of rooms (pPorscssion).............
Floor space in &q. ft. (posscssion)........s.....s. Houschold sizo........ PEPTPTPOIN

Land poescesed {acres)....evussernnss. . Monthly Expenditure (Ra)....vveenenes.
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Expenditure on food for 8 week ending on.ivaneinueninn
(date previous to the day of enquiry)

Brocx 11T

8l
No,

Commoditive

Unit

Price
per
unit

Consuincd

Quantity

Valuo

Seer

Ch.

Rs. 00.00,

—

Rice

Rice products

Wheat

Wheat products

Other ceraals

Otlier products

Cercal sub.total

Musur

O|lo|lala|lalje]|w]l e

Mung

S

Gram

=

Other pulsea

Tulws sub-total

Milk

Milk producta

Couking oil

Creen vegetables

Leafy vegetables

Fruits

Mcat, fish, eggs

Othern

Other food sub-total

Beveragoen

~do-

Intoxicanta

Subtotal {22-24)
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Brock 1V

L]
Expenditure on articles other than food on houschold account for a month

on OMecsossonnssanssnssncseansns

Consumed

Sl Commodities Unit  Price —
No. por Qunntity Valuo

unit
Soor Ch. Rs. 00.00

20 Duty, sari oto Yds,

27 Coating, shirting

28 Garments with eorvicing

29 Othors Wearing eto,

80 Sub-total

81 Toilet goods

32 Papor etc.

33 Sports goods

34 Musical instruments

35 Amusoment

36 Mecdicine

37 Al sorvices

38 Conveyance

39 Coremonials

40 Ronts Taxes

41 Equipments

42 Furniture

43 Ormaments

x| x|x|xfx|[x]x|x|x|x|x|x]|x]|x
X x]x|x]x|x]x|[x]x|x|x|x|x]|x
X x| xfpx|x]x{x]x|x]x|x|x|x|x

R

44 Sub.total

48



Brock V

Reegipts and dist ta during tho month onded on........
Sl Rocoipts Valuo Sl Disburscmenta Value
No. (Ra. 00.00) No. {Ra. 00.00)
1 Salo price and valuo of home 1 Purchaso of goods and
grown produco consumed articles for uso in the
(both sgricultural and non- ontorpriscs .
agriculturat) ’ .
2 Servicing purchased
2 carnings from transport
3 Taxcs and other lovics
3 Salo of morchandise
4 Salary and wages
4 Value of merchandiso con-
sumed at homo 6 Ront
6 Salary, wages, ponsion 6 Insurance, providont
fund ete.
8 Doarnoss, travelling ote, '
owances 7 Purchaso of shares, real
nasols ote.
7 Rent and taxes
8 Construction ete. of roal
8 Withdrawal from past savings
0 Salo of land, buildings 9 Domestic expenses
10 Sale of oll other sascts 10 Othors
11 remittances, dowry ete. 11 Total
12 Others
13 Total

4
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STATISTICAL FIELD SURVEYS CERTIFICATE EXAMINATION, AUGUST 1955
Pant 2: SectioN B (PracTicar) .
Timo : 4 hours Full marks : 100

N.B. (n) Al question carry cqual marks; noatners carrica 4 marks.
(b) Uso of caleulating machinea is not permitted.

Answer any four of the following:

1. A samplo cnquiry was under taken in 1941 in different districts of Bengal
to dotormino tho sizo of holding and thoir distribution. Oeccupational distribution
of the local people was also studiod at that timo.

After the famine of 1943 a eamplo survey was undortakon in tho fumino
striken areas in 1948 to study tho aftor offects of tho famino, Some of tho results as
obtained in 1941 and 1946 are shown in tablo 2B-1 and tablo 2B.2,

Writo a short noto showing tho after offocta of fumine as aro scen from tho
tables supplicit. (24)

2, A eurvey was conductod in 1948.490 in the State of West Bengal to assess tho

numbeor of refugeo population in tho state and thoir gonoral economic condition,

The enquiry was conducted in two phasca. In tho first phaso a complets
count of tho refugee population was taken. Detailsd enquiry of & samplo of 109
familics aclected systomatically was undertaken during the second phaso of cnquiry,

Tho wholo operation was comploted in 6 months timo and a sum of Ra, 2,25,752
a8 spent,

Somo of tho important results are given in tables 2B.3, 2B-4 and 2B.¢,

Examine tho data and bring out s many deductions as you can (24)

3, Table 2B.@ indicatos districtwiso distribution of agricultural families in
rospoct of aizos of holdings as in 1947. Make a critical study of the distribution in the
difforont districta in rolation to tho State.wiso dietribution and draw conclusions, (24)

4. Writo a oritical noto on tablo 2B.7 showing tho doath rate of tho different
countrica of the World from 1040 to 1047, (24)

6. Critically examino tho revonuo positions of Pro-Partition Bengal as revealed
fn Table 2B.8. {24)

6. Tablo 2B-9 shows All.India consumer expenditure por houschold by itvma
of consumption in rural arcas during the yoar 1849-50. Critically examine the data

and bring out the main conclusions. , (24)
7. Study tho tablo 2B-10 and bring out tho main conclusion with particular
roferonco to tho regional trondd of tho ratos of grosth. ) (24)
Noataesa. . W
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TABLE 2B.1

- DISTRISUTION OF TRE BIZE OF HOLDING

No. of familica No. of familics
sizo of holdings having land as having land as
{acros) in col. (1) in in col, (1) in
1041 1048
m (2) (3)
0— 2 8752 6074
3— 4 . 1422 848
Py —y'} 2015 . 1856
1— 8 2093 2087
910 922 1043
11—12 842 038
13—14 874 1036
15—18 528 ° 819
17—20 320 6568
2124 176 638
a5-35 103 809"
Above 35 82 1503 .
Total 18,769 18,769
TABLE 2B-2
OCCTPATIONAL DISTRIBUTION
No. of porsons following it
Occupationa
1041 1046
m 2) (3)
1) Agriculture 10323 6348
2) Agricultural Labourcrs 8642 10876
3) Industrial labourors 03 188
4) Domcetic Sorvants . 150 183
*5) Othor Labourors 1442 2557
6) Businoss 30 43
7) Small trado 338 442
8) Scrvice 5402 5237
'9) Profession 147 154
10) Running small industrics . 38 59
11) Big Industrics 3 10
12) Othor : 455 538
13) Roasons without sny occupation 1642 ‘ 2357

Total 28812 28900
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TABLE 28-3

DisTRIDUTION OF MIGRANT FAMILIES

District ) . Number of  Poreentago
. familics
(D] (2) (3)
1) Jalpaiguri 3400 1.4
2) Coochbohar 1300 0.7
3) West Dinnjpur 10191 4.0
4) Malda 1480 0.0
5) Mumidabad . 5084 2.3
6) Nadia 13500 5.4
7) 24-Parganaa 37371 14.7
8) Calcutta 140660 65.8
9) looghly 6824 2.7
10) Howrah : 10022 4.3
11) Burdwan 15749 6.3
12) Birbhum 646 0.3
13} Bankura 454 0.2
14) Midnaporo 3192 1.3
Total: 2,51,475 100.0
Refugeo familica in government cam 8,520
(appox. number) -
Grand Total ¢ 2,39,905
TABLE 2B-4
NUXMBER OF PERSONS (FAMILY MEMBERS) LEFT BY TUE MIORANT FAMILIES IN
PARISTAN
Total No. of No. of Total
no, of membors members fumily |
District familics left in now in members
Pakistan West Bongal
1) Julpaiguri 3400 1752 17004 18358
2) Coochbehar 1300 034 8249 0183
3) West Dinajpur 10191 ‘6927 50959 568868
4) Malda 1480 730, 7407 8146
6) Mursidabad 5084 4210 28420 32030
6) Nadia 13508 10649 87079 78028
7) 24-Parganas 37371 25007 186835 211862
8) Calcutta 140666 84474 703329 787803
0) Hooghly 6824 3872 34118 37000
10) Howrah 10022 © bl4d 54612 50750
11) Burdwan 15749 10042 78844 80480
12) Birbhum 846 343 3220 3572
13) Bankura 454 253 2269 2524
14) Midnnpore 3192 1899 15059 17858
Total 2,51,478 1,65,847 12,69,233 14,15,080
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TABLE 2B.5

OUCCUPATIONAL DISTRIBUTION OF THE MIORANT EAKNEHS AFTER MIGRATION

No. of carncrs when  No, of earnors follow.
Numo of occupation in Pakistan follow-  ing the occupation
ing tho occupation  after migration

1) Agriculture 20344 7372
2) Agriculturul Labourcrs 14512 14132
3) Landlords and rent receivers 8125 2700
4) Cottago industrica 35362 25100
5) Casto Profussion 2345 veus
6) Trado . 75835 54842
7) Transport 806 288
8) Learnod Profession 17559 9669
9) Servico 135150 107552
10) Unapecified 5023 4108
11) Without occupation ean 07052

Total " 3,23,781 3,23,781
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TABLE 2B.7

DEATII RATES OF DIFFERENT COUNTRIES OF THE \WONLD

(compilod from tho monthly Bulletin of Statistics, U.N.O., Octobor 1948, and tho
! annual report of Public Health Comnmission, Govinment of Indis)

Rate per thousand population

Country 1040 1041 1842 1043 1044 1945 1946 1047
I. Africa

South Africa 9.4 0.4 9.4 905 0.3 9.3 8.7 8.7

II. North America
a 8.8 10.0 9.7 10.1 9.7 9.4 9.4 04
Moxico 23.2 22,1 22,8 22,4 20.6 19.6 18.7 163
Unitod States 10.8 10.5 10.4 10.9 10.6 10.6 10.0 10.1

111, South America
Chilo 21.6 19.8 20.3 10.8 10.8 20.0 17.2 16.7
Panamab 11.56 13.4 12,9 13.2 12,5 12.0 11.0 9.1

IV. Asia
India - 21.1 21.8 21.3 23.6 24.1 21.5 17.5 18.1
1, Assam 16.0 16.8 15.4 16.3 17,1 13.8 — 8.8
2. Ajmor-Morwara 42.2 24,1 26.8 24,9 27.7 24.2 — —
3. Bihar 20.0 19.5 15.4 15.9 22,5 21.2 — 10.1
4. DBongal 18,7 19.6 190.0 31.1 28,1 19.8 — —
5. Wost Bongal 17.1 18.1 18.3 29.0 27.3 21.3 19.6 18.2
6. Bombay 24.3 25.8 24.4 23.4 25.86 2.5 — —
7. Central Provincos 30.3 32.2 33.3 27.6 30.0 39.1 — 33.5
8, rg 20.5 22.8 22,8 20.3 20.5 18.8 — —
9. Dolhi 19.7 20.9 22.3 23,0 23.1 17.8 — —
10. Madras 22,5 23.0 22,5 25.2 25.4 22,2 — 201
11, North woet frontior province 17.4 20.4 16.0 15.3 14.0 11,1 — e—
12, Orissa 23.4 28.4 25.7 30.7 31.0 28.4 — 270
13. Punjab 23.5 24.7 28.3 25.0 25.3 19.5 — 105
14. Sind 11,9 13.2 11.3 114 1.8 05 — —
15. United Provinces 10.3 10.3 18.5 10.2 18,7 19.0 — 168.¢
Japan 18.4 15.7 15.8 16.3 17.4 29.2 17.6 )M4.8
V. Europe .
Austria 14.8 14.0 13.3 13.8 16.0 25.6 13.4 13.0
Bolgium 16.3 14.7 14.8 13.6 16.0 14.9 13.6 13.3
Finland 19.9 20.0 15.t 13.4 18.2 13.3 12,0 1.9
Franco 18.6 17.3 17.0 16.6 19,8 18.6 13.3 13.0
Gormany (French Zone) 13.2 12.0 10.8 13.6 15.8 10.0 13.1 12.8
Italy 13.6 13.8 14.2 15.1 15,8 13.8 12.0 1.3
Spain 16.6 18.8 14.8 13.3 13,1 12.2 12,9 119
Sm.lmrlnnd 12.0 11.1 1.0 )10 12.0 11.6 11.3 )13
Unitod Kongdom 4.0 13.0 11.6 12.0 11.7 1L.5 117 121
VI. Ocenia

Australia 9.8 10.6 12,0 11.5 10.3 10.3 10.1 9.7

[
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TABLE 2B-9

CONSUMER EXTENDITURE PER HOUSESIOLD BY ITENMS OF
CONSUMPTION IN Runar AREA,
Jury 1949 To JuNe 1930 AND ApriL To JuNg 1031

July 1949 to April {o

Juno 1950 . Juno 1951
No. of sampls villuges 1083 ' [1FH]
No. of samplo houscholds 3140 10870
Houschold sizo 5.21 531

July 1049 to Juno 1930  April 1951 to Juno 1951

items consumer consumer '
oxpenditure (Rs.) oxpenditure (Rs.)
per- per-
r per contago r per centago
mum- person  to total ouso-  porson to total
holdd hold
1y 2) 3 ()] () (8) 7
1. food grains 442,61 83,03 38.70 154.28 29,04 39.42
2. pulses 40.89 7.86 3.58 15.43 2.06 4.02
8. ediblo oil 43.31  8.32  3.70 13.33  2.57 3.49
4. vegotables 26.72 5.13 2.34 8.74 1.67 2,27
5. milk and products 88.82 17.08 7.1 : 24.04 4.50 ¢.11
’ .
8. mont, fish & egg 24.57 472 215 133 141 .9
7. fruits 12,15 233 1.06  7.07 1.0 175
8. refroshments 14.10 2.1 1.23 424 .0.77 1.05
o salt 4.82  0.03 0.42  1.67 0.26 o33
10. spocica . 31.00 3.9 2.71 9.90 1.93 2.62
11. sugar 29.28 5.62 2.56 11.31 2.19 2.07
food total 758.27 145.66 0606.31 257.38 48.59 83.96
12. pen 9.17 1.6 0.80 0 3.09 0.64 0.87
13. tobacco 20.46 3.03 1.70 7.68 1.41 1.02
14. intoxicants 8.00 1.72 0.78  3.09 0.51 0.69
15. fuol and light 37.14 7.14 3.25 © 24.04 4.50 6.11
18, men's clothing 36.01 6.02 3.16
17. women's clothing 42.30 8.14 3.70 '
18, children’s clothing 0.84 1.89 0.80 } 21.46 4.04 5.49
10, misc. clothing 6.35 1:23 0.50
20, head-wear 4.61 0.89 0.40
21. bedding 9.02  1.91 0.87 1.88 032 0.3
22. tailoring servico 11.43 2.90 1.00
23, foot-wear 9.66 0.°21 0.84 2.39 0.45 0.6l
'2’4 co_bbloraon'lm 1.12 0,64 0.10.
25, toilet 3.3 1,10 .20 LIl o021 0.2

[
@*



TABLE 2B 9 (contd).

g, - toilet sorvico 5.4 1.16  0.60 ' .
57. amusementa 8.04 0.50 0.53 2.22 1042 0.57
28, oducation 2.02 0.5 0.28 2,10 0.39* 0.5
29, oducational sorvices 4.95 - 0.10 0.43 ' .
30, nows pnpors and periodicals  0.560 1.717 0.04 .
31. modical oxponscs 9.01 1.03 0.80 6.00 -1.14 1.5
32, medienl service 5.35 1.59 0.47 . .
33. mise. houschold erticles 8.25 2.00 0.72 2.43 1 0.43. 0.6l
34, domestic and housohold L

sorvico 10.41 0.32 0.01  22,20°* {.17¢* 5.60*°
33. food servico 1.68 0.53 0.15 . )
36. furnituro 2.87 0.35 0.25 0.67 ' 0.13° 0.18
37. furnituro service 0.73 0.14 0.08 :
33. utensils 7.24 1.30 0.63 1.08 " 0.20 0.27
39. corcmoninls 82.40 15.84 T.21 18,92 3.56°  4.83
40, non-recurring oxpenscs 3.01 0.58 0.2 - '
41. miscollancous {excluding . .

remittance) 1.20 3.30 1.50 .00 1.87.  2.54
42, houso rent and taxos 8.51 1.25 0.57 3.47 . 0.60. 0.89
non-food total . 385.43  74.06 33.69 133.43 .25.07. 34.04
All- ndia total 1143.70 210.72 100.00 390.81 73.66 100.00

% including oll servicoes,
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